
B
E
R
O
T
E
C

B
E
R
O
T
E
C

Benutzerhandbuch
User Guide
Manuel d‘utilisation
Manuale d‘uso  
Manual del usuario

 F A N T I C  C a b a l l e r o  |  Kennzeichenhalter

License plate holder 
Support de plaque d‘immatriculation 
Supporto targa
Soporte de matrícula

2024-



4

B E R O T E C  Deutsch

L i c e n s e  p l a t e  h o l d e r  F A N T I C  C a b a l l e r o  2 0 2 4 -

1.	 Remove the original license plate holder
	» Disconnect all cable connections to the license plate holder
	» Loosen the two retaining screws on the vehicle and separate the carrier from the 

mudguard

2.	Mounting BEROTEC license plate holders
	» Run the license plate light cable through the carrier (yellow)
	» Lay the cable for the indicator (blue)
	» Insert plastic spacers (red)
	» Install M6 bolts with flange nuts (green)
	» Re-connect the cable to the vehicle, mount the license plate holder with M8 

screws and washers

M6x20

M6x25



5

 Deutsch English

Note: All parts and connections that have been loosened for installation are to be reins-

talled according to the vehicle manufacturer‘s instructions or replaced with the supplied 

parts. All screw connections must be tightened to the tightening torques specified by the 

vehicle manufacturer.

Finally, check whether all parts and connections have been properly installed. After the 

first 50 km, check the entire installation and the correct tightening torques of all screw 

connections. Carry out visual inspections at regular intervals.

Please observe the maximum permissible speed of 130 km/h. 

Scope of delivery:
•	 1x BEROTEC license plate holder, aluminum
•	 2x M8x50 bolts
•	 2x M6x25 screws
•	 1x M6x20 bolt
•	 3x M6 flange nut, self-locking
•	 2x plastic spacers
•	 2x washers



+49 7258-2009090
info@berotec.de
www.berotec.de

BEROTEC GmbH
Gewerbestr. 13

75057 Kürnbach
Deutschland


